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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER 1/2–  • EXAMINATION – SUMMER 2016 

 

Subject Code:320008 Date: 10/06/2016      

Subject Name: MECHANICAL DRAFTING  

Time: 10:30 AM TO 01:00 PM Total Marks: 70 
Instructions: 

1. Attempt any five questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. Each question carry equal marks (14 marks) 

 

 

Q.1 (a) A regular hexagonal pyramid side of 35 mm & height 70 mm is 

resting on one of its triangle faces on the H. P. & the edge of base 

contained by that triangular faces makes an angle 30
0
 to V. P draw 

its projection. 

07 

 (b) A cylinder base 40 mm dia. & axis 60 mm long has its axis parallel 

and 30 mm above HP and inclined at 45
0
 VP Draw its projection. 

07 

    
Q.2 (a) Figure -1 show pictorial drawing of an object Draw following 

views 1) Elevation 2) Sectional LHSV 3) Plan 

07 

 (b) A 55 mm diameter vertical cylinder and 34 mm diameter 

horizontal cylinder intersection each other at right angle the axis 

of intersection cylinder is parallel to VP . The offset distance 

between axis of both cylinders is 5 mm. Draw the intersecting 

curve. 

07 

  OR  

 (b) A square prism 45 mm side and 75 mm height is intersecting by 

another square prism having 20 mm side and 75 mm height the 

axis of both prism is at right angle. And side of both the prism 

makes equal angle with VP. Draw the intersecting curve. 

07 

    
Q.3 (a) A triangular pyramid having side of base 40 mm and axis 70 mm 

is resting on one of its triangular faces with the axis parallel to the 

VP. It is cut by a horizontal section plane passing through the 

center of base . Draw elevation and sectional Plan 

07 

 (b) Draw the development of the lateral surface of 30 mm side 

hexagonal prism shown in figure no.02. 

07 

  OR  

Q.3 (a) 40 mm diameter and 60 mmm height cone is resting on the ground  

on it’s base.It is cut bya plane perpendicular to V.P. and inclined 

at 45
0
 to the ground and passing  through the mid point of its axis. 

Draw its sectional view and true shape of the section. 

07 

 (b) Draw the development of the lateral surface of 50 mm Dia. Cone 

shown in figure no.03. 

07 
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Q.4 (a) Figure No 04 shows an assembly of knuckle joint. Draw detail 

drawing of each part showing two views. 

14 

    

  OR  

Q. 4 (a) Figure No. 05 Shows detail drawing of Cotter Joint. Draw the 

following views of assembly drawing.1) Sectional elevation 2) 

Side view  

14 

    

    
Q.5 (a) Write the Autocad programme to draw the sketch as shown in 

figure no 06  

07 

 (b) A fit is shown as 120H6e8 , sketch the fit and find the following   

1) Hole tolerance  2) shaft tolerance 3) type of fit 

 

 Upper  Lower 

H6 + 22 + 00 

e8 - 78 - 126 
 

07 

  OR  

Q.5 (a) Draw the surface finishing symbol showing complete detail on it 

as per I.S. 

07 

 (b) Sketch the following symbols. 

1) Fillet weld 2) vacuum 3) Gate valve 4) Fire line 5) Glob 

valve            6) Elbow 7) seam welding   

07 

 

************ 
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ગજુરાતી 
પ્રશ્ન. ૧ અ 35 ભી.ભી. ઩ામા ની ફાજુ અને 70 ભી.ભી. ઊંચાઈ લા઱ો નનમભીત ઴ટ્કોણ 

ન઩યાનભડ તેની એક નિકોણીમ વ઩ાટી ઩ય આડી ઩ય ઊબો છે. અને તે નિકોણીમ 
વ઩ાટી વાથે ની ઩ામા ની ધાય ઊબી વ઩ાટી વાથે 300 નો ખણૂો ફનાલે છે. તો 
તેના પ્રક્ષે઩ો દોયો.  

૦૭ 

 બ એક ન઱ાકાય કે જે નો ઩ામા નો વ્માવ 40 ભી.ભી. અને ધયી ની રફંાઇ 60 
ભી.ભી. છે. જે ની ધયી એચ઩ી ને વભાતંય અને આડી વ઩ાટી થી 30 ભી.ભી. 
ઉ઩ય છે . તથા ઊબી વ઩ાટી વાથે 450 નો ખણૂો ફનાલે છે તો ન઱ાકાય ના 
પ્ર્ક્ક્ષે઩ો દોયો.   

૦૭ 

    
પ્રશ્ન. ૨ અ આકૃતી એક ભા ંલસ્ત ુનો ચચિભમ દેખાલ દળાાલેર છે તો તેના નીચના દેખાલ 

દોયો. 1) વાભેનો દેખાલ 2) છેદાત્ભક ડાફી ફાજુ નો દેખાલ 3) ઉ઩ય નો દેખાલ  
૦૭ 

 બ એક 55 ભી.ભી. વ્માવ ના ઊબા ન઱ાકાય ને ફીજો 34 ભી.ભી. વ્માવ લા઱ો આડો 
ન઱ાકાય છેદે છે. છેદતા ન઱ાકાય ની ધયી ઊબી વ઩ાટી ને વભાતંય છે અને ફને 
ધયી ઑ 5ભી.ભી. દૂય છે. છેદ યેખા ઑ દળાાલતા પ્રકે્ષ઩ો દોયો. 

૦૭ 

  અથવા  

 બ એક 45 ભી.ભી. ફાજુ અને કે 75 ભી.ભી. ઊચાઇ લા઱ા ચોયવ નપ્રઝભ ને ફીજો 
20 ભી.ભી. ફાજુ લા઱ો અને 75 ભી.ભી. ઊચાઇ લા઱ો ચોયવ નપ્રઝભ  છેદે છે. 
જેની ફનેની ધયીઓ કાટખણેૂ યશ ેછે અને ફને નપ્રઝભ ની ફાજુઓ ઊબી વ઩ાટી 
વાથે વયખા ખણૂા ફનાલે છે તો . છેદ યેખા ઑ દળાાલતા પ્રકે્ષ઩ો દોયો. 

૦૭ 

    
પ્રશ્ન. ૩ અ એક નિકોણાકાય ન઩યાનભડ કે જેના ઩ામાની ફાજુ 40 ભી.ભી. અને ધયી ની 

રફંાઈ 70 ભી.ભી. છે તે તેની નિકોણાકાય વ઩ાટી ઩ય આડી વ઩ાટી ઩ય એલી 
યીતો ઩ડેરો છે કે તેની ધયી ઊબી વ઩ાટી ને વભાતંય છે. તેને એક આડી વ઩ાટી 
એલી યીતે કા઩ે છે કે તે તેના ઩ામા ના ભધ્મચફિંદુ ભાથી ઩વાય થામ છે તો તેનો 
વાભે નો દેખાલ અને છેદાત્ભક ઉ઩ય નો દેખાલ દોયો . 

૦૭ 

 બ આકૃતી 02 ભા ંદળાાવ્મા પ્રભાણે 30 ભી.ભી. ફાજુ લા઱ા ઴ટ્કોણીમ નપ્રઝભ નો 
નલસ્તાય દોયો.     

૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ 40 ભી.ભી. વ્માવ અને 60 ભી.ભી. ઉચાઇ નો ળકું તેના ત઱ીમા ઩ય જભીન ઩ય 
ઊબો છે. તેને એક વ઩ાટી કા઩ે છે કે જે વ઩ાટી ઊબી વ઩ાટી ને રફં છે. જભીન 
વાથે 45૦  નો ખણૂો ફનાલે છે અને ળકું ની ધયી ના ભધ્મચફિંદુ ભાથી ઩વાય થામ  
છે. તો તેનો છેદાત્ભક દેખાલ તેભજ વાચો દેખાલ દોયો. 

૦૭ 

 બ આકૃતી 0૩ ભા ંદળાાવ્મા પ્રભાણે 50 ભી.ભી. વ્માવ ના ળકુંનો નલસ્તાય દોયો. ૦૭ 

    
પ્રશ્ન. ૪ અ આકૃતી 04 ભા ં “નકર જોઇન્ટ” ની એવેમ્ફરી  દળાાલેર છે દયેક બાગ ના ફે 

દેખાલ દળાાલતા ડીટેઈર ડ્રૉઇંગ દોયો. 
૧૪ 
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અથવા 
 

પ્રશ્ન. ૪ અ આકૃતી 05ભા ં “કોટય જોઇન્ટ” ના છૂટા બાગ દળાાલેર છે. તેને મોગ્મ યીતે જોડી 
એવેમ્ફરી ના નીચેના દેખાલ દોયો. 1) છેદાત્ભક વાભેનો  દેખાલ 2) ફાજુનો 
દેખાલ. 

૧૪ 

    
પ્રશ્ન. ૫ અ આકૃત્તી ૦૬ ભાટે નો ઓટો કેડ પ્રોગ્રાભ રખો. ૦૭ 

 બ એક ફપટ ૧૨૦ H6e8  લડે દળાાલેર છે આ ફપટ ની આકૃતી દોયો અને નીચે ની  
લસ્ત ુઑ ળોધો. 1) શૉર ટોરયન્વ 2)  વાફ્ટ ટોરયન્વ 3) ફપટ નો  પ્રકાય  
 

 અ઩ય   રોઅય 

H6 + 22 + 00 

e8 - 78 - 126  

૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ આઇ. એવ. પ્રભાણે ની પયૂી નલગત દળાાલતી વયપેળ ફપનનળની વજં્ઞાની આકૃતી 
દોયો.  

૦૭ 

 બ નીચે જણાલેર વજં્ઞા દોયો.  
1) ફપરેટ લેલ્ડ 2) લેકયભુ 3) ગેટ લાલ્લ 4) પામય રાઇન 5) ગ્રોફ 
લાલ્લ 6) એરફો 7) વીભ લેલ્ડીંગ 

૦૭ 
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